JACKEL

Trusted Since 1972

Installation Guide

The Original Radon/Sump Dome™
Model: SMR16101-CV

TOOLS REQUIRED

8 5/16 in.
1/4x 8 Socket
. 3/16 in. dia.
1-1/4in. M wrench
asonry
Concrete e (for
drill bit
SCrews concrete
SCrews)

Safety
PVC cement @ goggles

D —

(="

W -
primer

MATERIALS REQUIRED (NOT INCLUDED)

PVC pipe @ PVC fittings

Drill

Hand
hacksaw
or PVC
cutter

716 in.
Socket
wrench
(for cover
bolts)

Silicone
caulk and
caulk gun

Warranty: For more information please visit our website: www.jackel.com/warranty

www.jackel.com

574-256-5635



JACKEL

Trusted Since 1972

Safety Information

PRECAUTIONS
1. This document serves only as an installation guide. Refer to DANGER: Do not handle the pump or pump motor with
your state and/or local plumbing, radon mitigation, or onsite wet hands or when standing on a wet or damp surface, or in

water. If basement floor is wet, do not walk on wet area
until all power is turned off. If shut-off box is in basement,
call the electric company to shut off service to the house, or
call your local fire department for instructions. Remove
pump and repair or replace. Failure to follow this warning
can result in fatal electrical shock

wastewater treatment and disposal regulations for details
pertaining to your systems design, installation and
maintenance requirements.

2. Keep this instruction manual in a safe place for future
reference.

WARNING: Secure the discharge line before starting the
pump. An unsecured discharge line will whip, possibly
causing personal injury, and/or property damage.

DANGER: Do not pump flammable or explosive liquids
such as oil, gasoline, kerosene, ethanol, etc. Do not use in
the presence of flammable or explosive vapors. Using this
pump with or near flammable liquids can cause an
explosion or fire, resulting in property damage, serious
personal injury, and/or death.

WARNING: Release all pressure and drain all water from
the system before servicing any component.

WARNING: Wear safety goggles at all times when

DANGER: ALWAYS disconnect the power to the pump working with pumps.

before servicing.

CAUTION: Know the pump and its applications,
limitations, and potential hazards.

> BB P

operation. The motor is designed to operate at high
temperatures. Do not disassemble the motor housing.

g DANGER: Do not touch the pump motor housing during

www.jackel.com 574-256-5635



JACKEL

Trusted Since 1972

Pre-Installation

APPLICATION

The Everbilt Radon Mitigation Basin Cover serves two pressing needs; the need for a universal gas-tight cover to serve the radon mitigation
market and the need for a cover to retrofit failing sump and sewage basin covers. The Everbilt Radon Mitigation Basin Cover is designed to
fit over an existing basin, providing a new heavy duty cover to properly contain and vent radon gas and odors. There is no reason to dig up
your basement or garage floor to remove the existing sump or sewage basin. Simply remove the old cover and install the Everbilt Radon
Mitigation Basin Cover over the opening to create a new, sealed system. The Everbilt Radon Mitigation Basin Cover is adaptable with a
variety of spaces for different connections and comes with a full range of flanges that fit every size pipe. The removable cover allows for
easy access to the pump and has a clear view, removable inspection plate.

TYPICAL INSTALLATION

Note that you will be disconnecting and reconnecting your system’s plumbing and electrical connections. If you are uncertain of any aspects
of your particular installation, contact a plumbing contractor or radon mitigation contractor.

Electric cord grommet Pump power cord
Vent pipe\ / Discharge pipe
Vent flange Discharge flange
Finished floor \ /
N N
/ 20 Basin
Inlet pipe : %, Backiill

0©@0J 000 000

00DUO0ODAD O O0OD

o

Q

o

o

D 00 o]

o %0 5 0 Compacted sub-base

a (o]

° o8 : or concrete pad

5690363090 2 g
0 0 0 0 0 0.0,0 . 0.0.0,0.0.0_.0_0.0
626°%4%5%6 96 9595945600969 6% 5%

www.jackel.com 574-256-5635



JACKEL

Trusted Since 1972

Pre-Installation

Discharge | " >:¥
Assembly | '} x = @*H,Y Vent
e

)
2
=
o

Description Quantity
A Cover riser 1
B 1/4-20 Nylon enclosed nut (Preassembled to cover (A)

C Drain plug

D SF16314 2x3 Lid

E 1/4-20 Nylon enclosed nut (Preassembled to lid (D))

F INSP314-C Clean inspection plate (Preassembled to lid (D))
G SEAL314 Inspection plate seal (Preassembled to lid (D))

H 3 in. Plastic vent threaded flange (Preassembled to lid (D))
| 3 in. Discharge and vent 0-ring (Preassembled to lid (D))

J 2 in. One-hole cord grommet (Preassembled to lid (D))

K 1.5 in. Reducer plate (Preassembled to lid (D))

L 1.5 in. Discharge O-ring (Preassembled to lid (D))

M 1.5 in. Plastic discharge flange (Preassembled to lid (D))

N 1/4-20 x 1 HHC-SS (Preassembled to lid (D))
0

P

qQ

R

S

T

U

v

w

X

Y

Z

1/4 in. Flat washer SS (Preassembled to lid (D))
SEAL 18-8 Cover seal

1/4-20 x 1 HHC-SS

1/4 in. Flat washer

1.25 in. Plastic discharge flange
1.25 in. Discharge O-ring

1.25 in. Reducer plate

2 in. Discharge flange

2 in. Discharge O-ring

Reducer plate blank

2 in. Plastic threaded vent flange
E100H Rubber hub for 1 in. pipe

N [ I G Y Y PG Y I PR Y g Y SN K- =] Y [=-] K- -] [T JY G IR 'Y PP Y NG ) Y Y 1T

AB E125H Rubber hub for 1-1/4 in. pipe
AC E150H Rubber hub for 1-1/2 in. pipe
AD E200H Rubber for 2 in. pipe

AE Drill locator

AF Extra 1/4-20 Nylon enclosed nuts

www.jackel.com 574-256-5635



JACKEL

Trusted Since 1972

Installation

1 Preparing for installation

o Disconnect the sump’s plumbing and electrical
connections, allowing for reconnection after the new
cover and lid are installed.

o Ensure the installation floor and surrounding area are
clean and smooth. Repair any holes or cracks.

2 Installing the cover to the floor

o Place the cover (A) and lid (D) in the desired position on
the floor. Ensure the lid’s (D) discharge opening (1) is
aligned with the sump’s discharge pipe and the lid bolts
(Q) are aligned with the cover’s (A) threaded nuts (B)
(preassembled).

o Mark the concrete screw locations using the holes (2) on
the cover (A) and set the cover (A) and lid (D) aside.

o Drill holes at these locations using a 3/16 in. masonry
drill bit.

o Apply a generous bead of silicone caulk to the underside
of the cover’s (A) lower flange and anchor the cover (A)
to the floor using 1/4 x 1-1/4 concrete screws (not
included).

o Install the drain plug (C).

www.jackel.com 574-256-5635



JACKEL

Trusted Since 1972

Installation

3 Installing the lid

o Pre-install the lid seal (P) onto the lid bolts (Q and R)
to ease installation. Torque the bolts (Q) to 20 in.-Ibs.

o Remove the discharge flange assembly (K — M) and
install the lid (D) on the cover (A).

o Apply abead of silicone caulk to the underside of the
discharge flange assembly (K — M). Install the
discharge flange assembly over the pump discharge
pipe, sealing the bottom plate (K) to the lid (D). Torque
the flange bolts (N) to 20 in.-Ibs.

4 Connecting the vent piping

o Attach your vent pipe (not included) to the vent flange
(H) and torque the flange bolts (N) to 20 in.-Ibs. Vent
the system as required pursuant to local plumbing
codes and accepted plumbing practices.

www.jackel.com

574-256-5635



JACKEL

Trusted Since 1972

Installation

6 Connecting the power and verifying

5 Completing the installation .
proper operation

Optional) Y ke additional ings inth
. i:ose:?r(‘:))uti(IJ;Jzi(r:lznﬂ[]:abgsZesle:agase(:aﬁ;]r;nhgusb:I(ZE o Make sure that the cord grommet is properly inserted into the

AC) provided. Use the drill locator (AD) and hole saw 1. This assiires Wf_ﬁ?r ahil gas .tight. sl
guide below for the hub installation. o Check the pump by filling the basin with water and observe the

o For maximum effectiveness, apply a bead of silicone pump’s operation through one complete cycle.

caulk to all cover, flange, and grommet sealing
surfaces.

Hole Saw Guide

For Pipe Use Hub Hole Saw
1in. E100H 1-3/4 in.
1-1/4in. E125H 2in.
1-1/2 in. E150H 2-1/4in.
2in. E200H 2-3/4in.

www.jackel.com 574-256-5635



